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1. Agym that is open every day of tho wack offers acrobic classes every third day and gymnastic classe
‘overy fourth day. You took both classes this morning. In how many days will the gym offor both classe
on the same day?

W s o soom © soon o1 0won
2 1 aans st e i, mearnivon s mesna s, ten 2542
w 8 ® 0 © 2 © 6

3. Atyre of a cor measures 50 cm from where It touches the ground to the highest point on top of the tyr
What is the radius of the tyro?

® 8cm ® 16cm © 32cm © @cm

4. Students aro using string to make projects
© Thero are 200 students
« Each student noods 75 centimetro of string
How many metres of string Is necded in all?

() 15metres ®) 15meves (© 150 metes ©) 1500 metres

ant class.

5. Find the missing number In the following equation given below
30% of 7 + 196 = 580
®) 1180 ® 1280 © 1080 © 1208

6. A polygon has no congruont sidos. Which kind of polygon could it be?
(®) Rectange (8 Rhombus (©) Squere (©) Trapezoid

Decembor in Shimia the dally minimum temperatures were 20°F, 18°F
Which expression can be used {o find the average daily minimum temperature during tt

() [20+18+10+15+15+ 25+ 11]+7 (B) 20418+ 10+ 15+15+25+ 117
() (204 18+ (~10)+ 15+ (-15)+ 25+ 1] =7 (D) 20418+ (=10)+ 15+ (~15) +25+ 11 -7

& e rctan 1 ound betoen il o o e n?

8t 9 g8 10,424 1,424
W gy © g © el © fgendy

5. In which data sot, the mean, median and mode all are the same numbor?
W (1235212 @ (L231.231 (© (1.333231 O 2212323

10 A company published 110 books last yoar, and 8 of them becamo best-sollers. Which of the follow!
represents the approximata percent of books the company publishod last year that did not become be
sollors?.

@ 7% ® 8% © 9% © 102%

11, Look at the sat of numbers given below:
05 028 0315 04030
‘Which number should be moved so that all the numbers will be in tho correct order from leastto greato,

® 05 ® 025 © 0315 ©) 04030
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12, Supor quilters club membors are making a T-shirt that includes their logo. The logo is a simple biack-and
“whito design.

Which fractional part of their logo Is whito?.

1 3 5
® ® g © 3 ©

13, Rahul recorded tho dally fow temperatures as shown in the able below:
Daily low Temperatures
Day
Tonday
Tuesday
Wetnesday
Thursday
In Which of tho ollowing the temperatures in ordor from Towest 1 ighst?
@) 1,510 20 @) 2010, %1 Q) o1 10" 0 =5%-10°,20° -1+

14, Four students are asked to solvo the following problom:
3+5x4-2x(71-2)
©  Rahil says tho answer 13
© Mannat says the answor is 65
©  Parul says the answer is 80
©  Tina says th answer is 150
Who said the correct answer?.
() Rahi ® Panl (© Mannat © T

15 Which expression reprosents the least value?

1 1 1 1
4784 ) EL 78x ol
@ 47847 ® 478-3 © 478 © 478+

LOGICAL AND ANALYTICAL REASONING

16 Which statoment Is false?

(&) The mode i the piece of data that occurs most frequently
(B) A satof data has exactly one mode.

(©). Asatof data always has a mode.

(D) A set of data may have more than one mode

17.. Pratham wrote the following values for powars of 10
10'= 100
10°= 1000
10 10000
10 = 100000
Based on the given pattern, which of the following is equivalent to 1000000007

w 10 ® 10 © 1 © 1
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23. To organize a match, a school charges Rs. 200 per. hour for using a playground plus Rs. 30 per
B e e
s o e wn
s B e
1 Gt g s o

3,9, 27, 81, 243, 729, ...
What would bo the 8% term In Ginni's sequence?

® 582 ® 6551 © 1458 © 2187
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25, Aman can typa 1 page in 10 minutes. How many total pagos can ho type in one Hour?
w1 @ & © s ® 10
26, Sunil and Anil are playing ti-tac-toe on their gamo board given balow:
xI_IX]
Whieh picturs shows how the gam board woud fook aftor being rotated (turnad) 80° clockwise?
XTI ] XX X
w [[0] ® © [0 )
o) Xl X
27. 6,200 miltres =
{A) 62itres (8) 62 ltres {C) 620iitres ) 082 litres.
25, Uso this pattorn to answor the question given bolow:
. 2, 213, 20,
What is the rule for finding the next numbor in tho pattern?
@) Subtract s ® Subracts © Onidebys ©) Oivdobys

20, There wera 50 poople at tho birthday party. John invited 125 poople. Of thoso who attended, only 36%.
brought gifts. How many guests brought gifts?

(&) 125people ®) 50pecpie (©) 18peopie (©) 32people

30. Which of the following is same as 3 x 37
® 3 ® 3¢ © = © 32
COMPUTERS AND INFORMATION TECHNOLOGY.

31, Full form of WWW is
(&) World Wild Web (B). Worid Wide Web
(©) Web World Wide (D) World Watch Web

| e e,

e
Sunceta can best indent the first sontance by -
() Using the right alignment command () Pressing the Tab key
(€) Reseting the page sewp controls () Inserting a page break
3. In the URL http /v yahoo.comfindox-htm, which part is the protocol name?
) ®) incoxntm
© com © ntpi

34. Dot matrix Is a typo of
(&) Tape (8) Disk
() Printer (0) Data - Bus
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(A) Right tab icon (). Decimal tab con
() Centre tab icon (D) First line indent icon

36. Connocting different computers in an organized manner for sharing resources is called

(") Intemet (®) Inanet (©) Routing ©) Networking
7. Match the following terms with what they stand for
Torm Stands for

1. Com A Education

2. Edu B. India

3 C. Australi

4 A D. Comm

(A) 1A, 28, 3C, 4D (8) 18, 2C. 30, 4A

(©) 1C, 20, 3A, 48 (©) 1D, 24, 38, 4C

38, Tho process of attempting to acquire sensitivo information such as username, passwords and credit
details through e-malls o chatting s known as.

(A) Virus shielding (B) Phishing (€) Worming @) Cracking
30, ) “paper clp” in emais show

(A)  New e-mail (B) Attachment(s)

(© sontemai ©) Spam e-mai

40. 1 your friend sent you an o-mail and you have to check your e-mal you hav to click over
() Inbox (B) Sent (€) Compose ) Drafts

1. 16 you searon tor "MarUti SUZUKI" on cooste

(A) Google will find all sites containing words maruti and suzuki
(B) Google will find all sites containing the phrase marull suzvki

(C) Google will find 21l sites with words Maruti, maruti suzuki, suzuki separately
(D) Al of these

42. What can bo sont as an attachment in e-mails?
(A) P, doc, ppts, s, swi, htmi only
(B) Anyihing that can be seen on a computer monitor provided its fle siz
(C) Al types of documents in word, excel and powerpoint only.
(D) None of these.

43, In Flash ‘78" Is used to
(A Savefies (8) Create suf files
(€) Convert to symbol (D) Motion betwoen two graphic elements.

s within the specified

44, The best programming language to solve universal problem is
() Visual Basic ® PHP © G+ (© Noneof these
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re programming s to

s together to form one single file
into a special file that can run by isel

45. The job of compller In softwar

(&) Complle various software module:
{8) Convert programming commands
the computer on which the program as writen

I on other computers other than

(©) Compe programming code and data fles together for easy portavillty

(D) Al the above

4. 1n Adobe Flash, the key(s) used to generate swf filo are
® Enter (@ Cul+ Enter (©) As Enter (© Cir + A+ Enter

47, Disk cleaning tool s used to cloan up your hard drive by

(8) Deleting alldsta and programs to make drves cleaner
(&) Seatching and anaysig e les on nrd divo rat are 1o onger V52
1) Removs umnecessary fies and recing up disk space from the drvo

(©) Both (8) and (©)

48, In e-mailing, BCC stands for
(8) Bind carbon copy

(&) Black carbon COpy.
() Beautiful clean copy (D) Best carbon copy

45, The m
() st (®) vl

ative file format produced by Flash to save data s
© pdt © fa

50, In Microsoft Power point, you can run the siide show by,
® F2 ® Fi © s © Fi2

SPACE FOR ROUGHWORK.





